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Which fire extinguisher would you use for an electrical fire?

1. 9T / Water

2. WA /Foam

3. &HfA®d /Chemical

4. mﬂ-m grell T /carbon dioxide machine
LA IS I &1 T S+ BT 8 |

Steel rule is made of ........... metal

1. T&AT T stainless steel
2. HSes TE mild steel
3. §TH brass

4. B copper
AT gﬁﬂ'r%’_

There is a potential difference —
1. I% Th faegd aR9y # e g3l & st faegd fasa &
e § |

It is the difference of electric potential between two points in an
electric circuit.

2. o Regt & AT unr & 3T ¥ |

The difference of current between two points is
3. a1 fegatt & wew wfemy ¢ |

There is resistance between two points.
4. 3YUFd |

All of the above
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In transmission line, distribution line and condenser, it is used as an
insulator between two conductors.

1. >sh ayg /dry air

2. TIT [slate

3. HISHI odASC /mika knight
4. ShoTsc/Bakelite
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By doing ...... in cable the conductors can be flexible and can carry large
amount of current.

1. §gol?W /insulation
2. 3mAREr /armoring
3. gfad /serving

4, Fﬁirgal/ stranding

6. HI%E HIeSHr it JTAT & -
Soft soldering is done by —
8000c dTIHTT YT / at 800°c temperature
4500c ¥ FH ATIATT W/ below 4500C
5000c dT9HTT 9Y / at 5000c temperature
4500c ¥ ™S dUATT | at temperatures above 4500C

7. MoR & Mol HieeR T Sedl ST & &g & o gl
FIT SIMAT AT & ?

Why is glass wool placed between the inner container and the outer

Eal (A

casing in a geyser?

1. Uil S SITare delel o folT /to extend the life of water
2. IS YRT %A Hel & Tl / to reduce the load current

3. Mmﬁ'mﬂ?ﬁ'ﬂ'ﬁo increase heat loss

4, 3SATEI gerst & foIT /to reduce heat loss

In one capacitor, two......

1. 3!;@"\’]?{ ,W (Dielectric) garR U /separated by
insulation, dielectric

2. FHosgey, Th ﬂm GdRT YU conductors separated
by insulators

3. fAifAe e 3R Ase 3w
ceramic plates and mica discs

5. Riea FRs SgocE

silver coated insulators
9. UH ey L.C oy | qrew @vd —
Power consumption in a pure L.C circuit —

1. I 819 /will be zero
2. ¥SfEea aRuer & s« 89/ will be equal to the

resistive circuit
3. 3if&sas g9fi/will be maximum
4, HF PN /will be less

10. 3-¢ oS H FHIviy [FEargeT Fa=m gar & ?
What is the angular displacement in 3-¢
supply?

1200 Folaciohel/ 1200 Electrical

300 FelacIahol/300 Electrical

900 FolaeIehel/900 Electrical
60° SoFLIHel/600 Electrical
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